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GENERAL INSTRUCTION TO T

(1) wﬁaﬁaa‘mmﬁm?;m

Candidate must write first his/ her Roll No. on thé question paper compulsorily.

(2) wft s e

All the questions are compulsory.
3) e T T I E TS Fe-gfent |/ ford |

Write the answer to each question in the given answer-book only.
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(4) o et o St @ €, 39 Wt 3 3w e o o |

For questions having more than one part, thé answers to those parts are to be written
together in continuity.

(5) -W%%ﬁaaﬁﬁﬁwﬁ%ﬁmﬁg&/m/ﬁﬂmEﬁm%ﬁw%m

AT | 3

If there is any error / difference / contradiction in Hindj & English version of th ti
o1 the question

paper, the question of Hindi version should be treated valid
(6) 9% 1 I fore & q& W 1 shATeh STave v |

Write down the serial number of the question before attempting it

(7) S T 3% R FEER R |

Weightage of marks for the question is as follgws
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Ry w —~
s | s, el SR [y -
*_-_-_-_'_'—‘—&-—
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& et Sl LR
aue-4 (C) 16 to 19 & 4 iy s
@us-g (D) 20 to21 2 " =___8____
wIE-7 (E) 22 to 23 > ; i
T e
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SECTION - A

L. nﬂ%ﬁan&ag%mm%w mgﬁtﬁ[ﬁﬁﬂ@l (1 x 10 =10)

\‘
Write the answer of the following given multiple choice questions in the answer book.

(i) Frerfefiga o & taw S FR R :

(3 & | (@) T

(@) ® () T A S

Which of the following data structure is linear data structure ? 1
(A) Tree (B) Graphs

(C) Arrays (D) None of these

(ii) @wﬁ:@mm%mmmwmmma?

[ @ @
@ | @ !

Symbol used to comment 2 single line is

(A) \ ®) /
{, © | @) "
| (iii) ngﬁmmé@z%mmﬁmw%?
(37) if Qe (@) if-else REHT
(®) switch REH (1) ek @l
Selection structufe is implemented by which control statement ? 1

(A) if statement (B) if-else statement

(D) All of the above

(C) switch statement
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(iv) T I HFeH Y EIT0T B H R 7

(37) int fun (int a, int b) () int fun (int, int);
(@) (30) 9 (@) qFi (B) o &I T
Which is valid function declaration ?

(A) int fun (int a, int b) (B) int fun (int, int);
(C) Both(A)and (B) (D) None of these

(V) T I SIS 215 S Set S e i ook Hy it v 2, :‘@Wﬁlﬁ‘[%

(31) 3fesiae - (@) =™
@ ® (7) digx
User-defined type that binds data and function together is called
(A) Object (B) Class S $\
(C) Array (D) Pomter »
(i) IR aw@zﬁ%%a%wwm% ?
() fewiee e (a) o = 5

(@) Sferes FE (o) € B

Constructor that take arguments are called

(A) default constructor (B)  no arguments constructor

(C) parameterized constructor (D) None of these

(vii) T I T oo bl 3eft Forr 3 gE mﬁiﬁﬁﬁgﬁ-{sﬁwm%@

& ST &
(31). fewice Tegeaen (|) ohidt HgEy
(@) GuHieusSE Hegee (8) %8 T ¥ Tl

A constructor that is used to declare and initialize object fro
same class is known as

(A) * default constructor (B) copy constructor

(C) parameterized constructor (D) None of these
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(ﬁii)ﬁ@mama%mm%ﬁmﬁﬂﬁzm%ﬁwmm%

(31) fome sefied (F) Wedeiad |
(@) T e (2) R TR
- When a class inherit the features of two or more classes is called 1
(A) single inheritance (B) multilevel inheritance
(C) multiple inheritance (D) hierarchical inheritance

(ix) TR 1 7 T 1 1 el 18 ?

(31) Teugss ™ (€) <ges &y

(W) o™ (@)  IHE m@u@?ﬂ

In inheritance the new clas@saﬁai% _ 1
(A) Derived class (B).-Child class

(C) Sub class (D) | All-of the above

(X) mﬁﬂﬁa=(b=20)+5ﬁ%ﬁﬁ‘a’wmw€m?

(31) 20 (@) 25
(®) 5 (x) 30
In the expression 2 = (b= 20) + 5 ; the value of variable ‘a’ willbe - 1
(A) 20 B) 25
(C) 5 (D) 30
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SI% AT 2 H 8 T WEHI o I Uk et & iy -

Q. No. 2 to 8, answer the following questions in one line -

s5-0

2

fiTen ST Fgare i AW |

Explain the compound data structure.

TEEIYE FTE © |

What are Expressions ?

SHAFE | ,;%QQ%

What is domain/2s

o W
S
&L"

SQL@%LLW%I

What is NULL in SQL ?

rfqter RreftSa =t afefvg =t |

Define operator precedence.

NSRBI TR L 7

What are Identifiers ?
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What is Inheritance ? ' 1

0, w:ém%ﬂm HGER

By default, the members of a class are " 1

10. W%@mmﬁﬁﬂmﬁm@zmﬁmaﬂtm-mmmgﬁ

____wmamel

Same function name but different argument%f ot béused to perform different tasks, is

known as ., @% 1

11, firer srafR-a § U 99 T L TS Cqmra i @ |
In single inheritance, there is one base class and.one class. 1
g -«
SECTION - B
) 12 TEE Fne
ture 7 2
What is Data Stru¢
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13. T 1 Bl 2 3 fre v Bt 2

What is Search and how many types ?

14. @%ﬁa%ﬁﬁﬁ%?a@mﬁmeﬁ@?ﬁ%?

What is inheritance and how many types of inheritance ?

SO
15. Wﬁ?KeyW% ?Sﬁﬁm‘i%l:&aﬁ@tﬁﬁq Key@ﬁiﬁ% ?

TN\ &

What is foreign key ? How we creatg a forelgn keyinatable ?

1' ';"
-(/ ;.I
"“ ~

ECRCE

SECTION=C

16. sofiag (Hierarchical) =l Hiee ! AT |
Explain the hierarchical data model].

AYET/OR

ﬁwmm%fméﬂ%ﬁmw&t

Design 2 database for schoo] management system.
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18.

19.

20.

SQL 1 8 foram & wwe |

What is SQL ? Define in detail.
319ET/OR

SQL%aﬁﬁmaﬁﬁaWH%ﬁmam

Explain the SQL logical operators with example.

39 i (Sﬁb queries) & HTYhT T A & ?B’qa?ﬁﬁﬂiﬁtﬂ?ff'ﬁ'@?ﬁ% ?

What do you mean by sub queries ? Why sub queries are useful ?
FHYET/OR

SQL & witite e feaa SHRLH B & 7

How many types of aggregate func;von& msw

Qs
E-R 37 3 1@ Heh-3ci1e, Hefieh ol A 37 3e¥d feredl |

Write down the main component of E-R diagram-—symbol, symbol name and aims.

¥ar/OR
Seriv g et 5 =07 et |

Write down thé steps of data base design.

TE -

SECTION -D

A e oy e ST e |
Write a program of linear search.

argar/OR
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R i e for |

Write down the basic operations on Array.

51, e Ed, i o & = dEa R e

Why binary search is better than linear search ?

¥aT/OR JJ"
BN

et Tt 1 e st vt (4

Write a program of Fibqh,éit:ci' series.
S

.
% S0
2

Qg ~4

SECTION - E

22. ?ﬁﬁ'ﬂ'{ W ¥ Insertion = foTe wemiiien ferat |
Write down the algorithm of Insertion in linear array.
AYET/OR
ueh e WUt o ferdt |
write a one dimensional array program.
HYTT/OR
g & o feE |

Write a pr ogram of Binary search.
S 03,1“ fO;TEChe (Opt")
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23. E-R 3m@ # fafirg yr % attributes 37T relationships 6 =TT Hi AT 3 3956 %Q
e R R E
Explain various types of attributes and relationships in E-R diagram and also give
graphical representation for them.

/ 3UET/OR

| 3NFaﬁtBCNFﬁﬁ;anﬁmaﬁl E! ?‘
| Explain in detaw %&dJiCNrED

AYEr/OR
DBMS T Fiifeptor il |

Write the classification of DBMS.
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